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% Control 1, ELO270, Semestre 2, 2019
 
%% Problema 1.1
 
% del grafico
y_inf=1/2;
tau=3; %tau=4; % iterando
T=2;
K=2; %K=10; % iterando
 
% parámetros de G
omega=2*pi/T;
c=y_inf*omega^2/K;
a=-1/tau;
b=omega;
 
% G
s=tf('s');
G=K*(-s+c)/((s-a+j*b)*(s-a-j*b));
 
% Gráfico respuesta a escalón
step(G,9)
 
% Otros gráficos
ltiview({'step','impulse','pzmap','bode'},G)
 
%% Problema 1.2
 
% G
s=tf('s');
G=(-s+2)/(s^2+s+1);
 
% Gráficos solicitados
ltiview({'step','impulse','pzmap','bode'},G)
 
 








